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amin = -9;
size = 10;

LowerAlpha@k_, l_, d_D :=
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LambdaDot@k_, l_, d_D := 9a, -2 a Hl + 2 kL - 4 k ik
jjjl + k +
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zzz= ê. a -> LowerAlpha@k, l, dD

LambdaCont@d_D := PlotAik
jjj d + 2 a - 2
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, 8a, amin, 0<, DisplayFunction Ø IdentityE;

Lambda@k_, l_, d_D :=

IfA8k, l< != 80, 0< && Im@LowerAlpha@k, l, dDD == 0, PlotA-2 a Hl + 2 kL - 4 k ik
jjjl + k +

d
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8a, amin, LowerAlpha@k, l, dD<, DisplayFunction Ø IdentityE, 8<E

Figure@d_, DF_D :=
Show@LambdaCont@dD, Table@Lambda@k, l, dD, 8k, 0, size - 1<, 8l, 0, size - 1<D,
PlotRange Ø 88amin, 0<, 80, 40<<, AspectRatio Ø 1.25, DisplayFunction Ø DFD

AddPoints@d_, DF_D := ListPlot@
8LambdaDot@0, 1, dD, LambdaDot@1, 0, dD, LambdaDot@1, 1, dD, LambdaDot@2, 0, dD,
LambdaDot@0, 2, dD<, DisplayFunction Ø DF, PlotStyle Ø PointSize@0.02DD

Essential = Show@
Graphics@8GrayLevel@0.9D, Polygon@Join@Table@8-i, H-i + 1.5L2<, 8i, 0, 7.8, 0.1<D,

880, 39.69<<, 880, 0<<DD<D, DisplayFunction Ø IdentityD;
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Show@Figure@5, IdentityD, Essential, AddPoints@5, IdentityD,
Figure@5, IdentityD, DisplayFunction Ø $DisplayFunction, Ticks Ø NoneD;

F0@d_, DF_D := PlotAH1 - mL ik
jjj d
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8m, -5, 1<, PlotRange Ø 8All, 80, 10<<, DisplayFunction Ø DFE;
Essential = ShowAGraphicsA9GrayLevel@0.9D,

PolygonAJoinATableA9m, H1 - mL ik
jjj1.5 +

1
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=, 8m, -5, 0.93, 0.01<E,
88-0.2, 9.68<<EE=E, DisplayFunction Ø IdentityE;

RectEnl = ListPlotA99 1
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, 9.6= 81, 9.6<, 81, 0<=,

PlotJoined Ø True, DisplayFunction Ø IdentityE;
Show@F0@5, IdentityD, RectEnl, Essential, F0@5, IdentityD, RectEnl,
DisplayFunction Ø $DisplayFunction, PlotRange Ø 8All, 80, 9.68<<D;
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SolveA2 Hl + 2 kL - 4 k ik
jjjl + k +

d
ÅÅÅÅ
2

- 1y{
zzz H1 - mL == H1 - mL ik

jjj d
ÅÅÅÅ
2

+
1

ÅÅÅÅÅÅÅÅÅÅÅÅ
m - 1

- 1y{
zzz
2

, mE
size = 4;

StartM@k_, l_, d_D := MaxAI8 - 6 d + d2 - 24 k + 8 d k + 16 k2 - 4 l + 16 k l - 4
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H4 - 4 d + d2 - 16 k + 8 d k + 16 k2 + 16 k lL,

I8 - 6 d + d2 - 24 k + 8 d k + 16 k2 - 4 l + 16 k l + 4
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StartPts@k_, l_, d_D := 99m, H1 - mL ik
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= ê. m -> StartM@k, l, dD=
TblPts@d_D := Table@ListPlot@StartPts@k, l, dD, PlotStyle Ø PointSize@0.012D,

DisplayFunction Ø IdentityD, 8k, 0, size - 1<, 8l, 0, size - 1<D;
F1@k_, l_, d_, DF_D := ModuleA8mcalcmin = StartM@k, l, dD<,
PlotA2 Hl + 2 kL - 4 k ik

jjjl + k +
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zzz H1 - mL, 8m, mcalcmin, 1<,

PlotRange Ø 8All, 80, 10<<, DisplayFunction Ø DFEE
Tbl@d_D := Table@F1@k, l, d, IdentityD, 8k, 0, size - 1<, 8l, 0, size - 1<D;
Essential =

ShowAGraphicsA9GrayLevel@0.9D, PolygonAJoinATableA9m, H1 - mL ik
jjj1.5 +
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, 0.93, 0.01=E, 88-0.2, 9.68<<EE=E, DisplayFunction Ø IdentityE;

ShowAF0@5, IdentityD, Tbl@5D, Essential, TblPts@5D, F0@5, IdentityD,
DisplayFunction Ø $DisplayFunction, PlotRange Ø 99 1
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